¥81G :adA)

1102-9002 (IND) ©4 elues

repunAH oe

suononJsul buni4



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

M10x1,25x35

70Nm

Self lockin

5184/7

5184/1

10

M12x120(10.9)

110Nm

M10x30(10.9)

65Nm

ser.nr:A

wrEEEEEN % )

ser.nr: Q

SR
A

(&

5184/5

M12x120(10.9)
110Nm

M10x30(10.9)
65Nm

518480

N

M12x90 (10.9)

110Nm

|

M10x1,25x35
70Nm

L

5184/9

@

© 518470/25-01-2012/1

© 518470/25-01-2012/18



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

¢/c10¢-10-G¢/0L¥81S ©

WNS6

|

(6°01) 06X LN

WNOZ
2 SEXGZ LXOLIN
B
®
6/v81G \N

WNZ9
(6°01)OEX0LIN

WNS6
(6'01)02 X2 HIN

S/v81S

WNZ9
(6°01)OEXO LN

WINS6

(601)0g X2 IIN

08¥819

ol

Lv81LS

L/v81S

uBoo| §18S

WNO0Z
GEXGZ X0 LN

L1/210¢-10-G¢/0L¥81S ©



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

(4x) M10x30 (10.9)

(4x) M10x1,25x35 (8.8)

(4x) M12x120 (10.9)

(2x) M12x90 (10.9)

(4x) M10
&

(4x) M10

(e

(6x) M12 (10)

(@

© 518470/25-01-2012/3

© 518470/25-01-2012/16



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

¥/2102-10-9¢/0LV81S ©

NM ¢z| : ©NjeA-d

G1/210¢-10-G2/0LV81S ©



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

Okm 1000km

O "0

HINWEISE:

* Die fur das Fahrzeug zugelassene Anhéngelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Anderungen des Fahrzeuggewichtes muf die hdchst-
zulassige Anhangelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.

Auskunft hieriiber kann Ihr Fachhandler oder der TUV geben.

* Elektrische Anlage gemap StVZO anbringen.

NOTE:

* Should this installation process entail the cutting of the bumper — con-
formation MUST be obtained by the installation engineer of the custo-
mer’s acceptance prior to completion. Thule Towing Systems do not
accept responsibility for any matters arising as a result of this miscom-
munication.

All measurements are in mm!

© 518470/25-01-2012/5

(2x M1(12(>)<%<; 7%)3 5"% LHS + RHS
@-ig (2x) M12 (10)

. )
_ i )
ser.nr: A

By

M12x90 (10.9)

© 518470/25-01-2012/14


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

9/¢10¢-10-9¢/0LV81S ©

siIssey)

(8'8)

Gexseg' LXOLIN (Xt) l. e ’

N
onezm ) &)
oV ot () )

g =1 (2]
S (eon) . l v &l kd j
) 0SX0HN (xp ‘
" R R a
00 | + _ & &
0L (xp) < 0ZLXZL (Xb) SHH SH" swies | P ares ~



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

e LHS + RHS 2y | B LHS + RHS

© 518470/25-01-2012/7

El=

ZRES

L

© 518470/25-01-2012/12


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

8/¢10¢-10-G2¢/0L¥81S ©

| SHY + SHT

L H/210e-10-G¢/0LV81S ©

= _~——

B



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

23 A

© 518470/25-01-2012/9

:
\
$

[\

Reinforcement underline

Middle bumper

(o]
0|

© 518470/25-01-2012/10


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

‘2)55Q> ‘bfb(o ‘b’agc
o OAPKQIT.PO®  o°
O@‘O +7 (495%,%69-38-36q<,)\‘<>

s S >
A A A
o o of
AP AP AP
& & &
%) © ©
P P P
A A A


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

Template 5184 Santa Fe; 2006-2009

Place on outside bumper

LHS

183

-

Cut out

95

Middle bumper

0 |

50

/

|

40

Underside bumper

e

RHS



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

‘2)55Q> ‘bfb(o ‘b’agc
o OAPKQIT.PO®  o°
O@‘O +7 (495%,%69-38-36q<,)\‘<>

s S >
A A A
o o of
AP AP AP
& & &
%) © ©
P P P
A A A


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

v6:9 >
U
\ &ﬁ

Jadwing apIsino uo ade|d

€8l

94 elues 81§ arejdwal

o}

%
11| 80B 4 LLOZ-éél)G%;



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/


 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: scale to US letter (11 x 8.5 in)
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     0
     0
            
       D:20120109085245
       595.2756
       a5
       Blank
       419.5276
          

     Tall
     16
     Single
     155
     228
    
     0
     LetterWide
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





